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Rational functions review

Find the domains, vertical asymptotes, hori

discontinuities/holes of all the functions, and graph the
Chromebook to help you graph the functions, but you will
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and removable discontinuities without a graphing calculator.

zontal or slant/oblique asymptotes, and removable
functions. You can use Desmos on a school-issued

need to be able to find the domains, asymptotes,
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7. Create a function with vertical asymptotes at z = 5 and # = —4, a removable discontinuity at ¢ = —2,a ™
horizontal asymptote at ¥ = 3, and x-intercepts 1 and -6.
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